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Problem 1 (20)

Let x(t) bea periodical signal as shown below
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(a) Find Xo ? (5)
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If x(t) aboveis passed through a low pass filter with transfer function H (f) as shown

below
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- (€) what is y(t) ? (writea mathematical expression ,
do not use any convolution expression ) (5)
(b) Find the power of the output signal y(t) (from part ¢ Y?  (5)
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Problem 2 (25)

Let x(t) be a signal as shown below
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(a) Using the integration formula only ,find the Fourier Transform of x(t) ? (18)

(b) If the signal x(t) above , is passed through a system with differential equation

given as

3400 ¢ dy(t)+4y(t “D=x ()
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Find the Fourier transform of ¥(£), Y(8) 2 (7)
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Problem 3 (15)

Let the signals X(f) as shown below

x(7)
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(2) Show that Laplace Transform of X(¥) is given as 6)

X (s)=1=¢~

(b) Using the Laplace Transform Table and properties only 10
find the Laplace Transform of y(f ) , Y(S) ?
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